['pan-ipu Mockssl (Memopuain A.Il.Ilounnka)
4 pespansa 2018, MockBa

Nel. J.Boyer, 1967 - 1.82h5! (5 0ukoB),

Ne2. N.Macleod, 1982 - 1.¥el! (5 ouxoB)

Ne3. C.Pelle, 1919 - 1.2b2! - 2. & :c4+ (1 ouxa),
1..&:e52. B:e5H(1 ouko), 1.. A3 2. &5+ (1 ouxo), 1.. 215 2.3+ (1 ouko),, 1..c52.a7 (1 0ouxo).

Ned. V.Kos, 1970 - 1.2h5! - 2.¥d2 (1 ouxo)., 1... Ba2 2. ¥ f4+ (1 ouxo),
1..Q:d6 2.2:g8(1 ouko), 1... B:d6 2. Qg3 (1 ouko)., 1...&:d6 2. Qg7 (1 0uxo)..

No5. NN? 1.&h7! (2 ouka) — 2.d4+ ed 3. 2:d3+(1 ouxa),
1..2c62.2e6+ R:d5 3. Eb5+ (1 ouko), 1...2b5 2. B c6+ 2b4 3. B c4+(1 ouko).

Ne6. O.Nagy, 1947 - 1.f5! (1 ouko),
1..h52.8d4 h4 3. %2 h3 4. Bel h2 5.%hd h1 ¥ 6. B :h1(2 ouxa),
1..h6 2.%d4 h5 3. 07 h4 4.%e5 h3 5.%% 3 h2 6.%:h2 (2 ouka).

Ne7. B.Kanamnukos, «lllaxmaTtHass komnozuuusa», 2018.
1.£&.e8+! (1 ouxo) R:b4 2.Q:a2+ (2 ouka) 2b3 3.Lf7+! (3 ouxa) Rc2 4.Lg6+ 2b3 5.2d2
h1¥ 6.8&.7+! (4 ouka) £.d5 7.H:h1+- (5 ouxos)

Ne8. B. SIkumunk, braunerens INIIK CCCP, 1967
1.216! (1 ouko) 2g8 2.&Lg7 c4 3.Lh8! (2 ouka) c3 4.Re7! (3 ouxa) c2 5.Lb2 clD
6.8.:c18207 7.8.b2+ 296 8.816 b5 9.82d6! (4 ouxa) b 10.82¢5! b3 11.824 +- (5 ouKos)

Ne9. W.Alaikow 1.%al £Lb8 2. d4 Qc7+ 3.Re5 Qd5# (1,25 oukxa),
1Bl &b2 2. Bf4 Add+3.8e5 AbS# (1,25 ouka),

1.23h5 &h2 2. Qf6 Qf4+3.Re5 Q:e2# (1,25 ouka),

1.Qe8 &Lh8. 2. 2d6 Qg7+ 3.Re5 Ah5# (1,25 ouka)..

Ne10. J.Pogats, 1997 - 1.d5 b3 2.d4 cd 3.%2c3 dc 4.52b4 a3 5.2a5 bd#(2,5 ouka),
1.h5 3 2.%e3 h3 3.214 Rh2 4.§g5 4 5.2h4 g3#(2,5 ouka).

Ne11. B.Huxkonernu, 1992 - 1.¥%f1! — 2. @f3+ Q2 3. ¥ c4+(2 ouka), 1...Qcl 2.Qc2+ Qd3
3.Q:b4+(1 ouxo),
1..b32.Qe2+ Bd4 3. Qc3+(1 ouko), 1...%:g5 2. Qeb+ Reb6 3. Bd6+(1 04Ko0).

Nel2. I'.Ko3topa,B.Konbin , «IIlaxmatHas komno3unus», 2018.

1.4&.g4! - 2.8.:h5 - 3.&Ld1 Re6 4.d8AQ+ Re5 5.28c6+ Reb6 6.Lb3+ (2 ouka)
1..Bf5 2.&c3+ Reb 3.Mc6+ 2:f7 4.Lh5+ B:h5 5.Hg7+ Rf8 6.¥:c5+ (1,5 ouka)
1..8g5 2.8d1 Re6 3.d8QA+ ©Re5 4.B:g5+ hg 5.28c6+ Reb6 6.&b3+ (1,5 ouxa)




Problems Difficulty (54 Solvers)

ID|Tag|Difficulty [Average|5(Correct Solution)|0 < Pts. < 5|0 (Wrong Solution)|- (No Solution)
12| S#6 1000| 0.00 0 0 49 5
6| #7 896| 0.52 3 5 43 3
9 |H#3 782 1.09 11 1 34 8
8| + 756 1.22 5 18 31 0
51 #4 738 1.31 13 3 37 1
4| #3 734| 1.33 12 5 36 1
10 |H#5 710] 145 12 8 31 3
11|S#3 6521 1.74 18 1 33 2
2| #2 630 1.85 20 0 34 0
71 + 600 2.00 5 32 17 0
31 #3 5921 2.04 18 8 28 0
1| #2 500 2.50 27 0 27 0
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